Zatacznik nr 2.3
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1 2 3 4 5 6 4
) ) Kostka
1 0+031,60 indywidualny P 4,50 4,00 betonowa
2 0+039,60 indywidualny L 4,50 7,30 b;?:gfva
3 0+048,20 indywidualny P 4,50 3,50 beft%sntg\?va N
m
4 0+066,20 indywidualny P 5,00 3,00 b;i,sntgfva ﬂ
5 0+091,40 indywidualny P 4,50 2,70 b;i,s:gfva E
~
6 0+091,80 indywidualny L 4,50 6,70 b;i,sntgfva rzn
7 0+110,60 indywidualny P 6,00 5,60 beft%sntg\?va m
8 0+122,00 indywidualny P 4,20 5,70 beft%sntg\?va .:g
(]
9 0+127,60 indywidualny L 3,50 6,10 beft%sntg\?va N
10 | 0+134,60 indywidualny L 3,50 6,30 beft%sntg\?va 5'
Qo
11 0+159,00 indywidualny L 5,50 6,40 beft%sntg\?va I
>
12 | 0+180,80 indywidualny P 3,50 >,60 beft%sntg\?va E
- - Kostka (@)
13 0+185,80 indywidualny L 3,50 6,80 belitgsnt?(\;va E T
14 | 0+186,60 indywidualny P 3,50 >,60 betonowa X N
) ] Kostka @ >
15 | 0+207,20 indywidualny L 4,50 7,00 betonowa e} ls
<
16 | 0+218,00 indywidualny L 3,50 7,110 beft%sntg\?va 3 )
: : Kostka X <
17 | 0+225,00 indywidualny L 3,50 7,20 betonowa M
o)
18 | 0+238,40 indywidualny L 4,50 7,40 beft%sntg\?va © %
19 | 0+286,60 indywidualny P 3,75 12,60 bé(t?ntgfva E
~
20 | 0+294,10 indywidualny P 3,75 12,40 beft%sntg\?va F’:
21 | 0+302,80 indywidualny L 4,70 2,30 beft%sntg\?va =
) ) Kostka 2
22 | 0+304,20 indywidualny P 3,50 8,00 betonowa ¢.§
23 | 0+320,20 indywidualny L 3,70 2,30 beft%sntg\?va T
~
24 | 0+326,60 indywidualny L 3,70 2,50 beft%sntg\?va )
c
25 | 0+330,60 indywidualny P 3,75 11,70 beft%sntg\?va 2
~
26 | 0+363,10 indywidualny P 3,50 2,90 bé(tisnt;?va N
27 | 0+369,20 indywidualny L 3,70 8,90 bé(tisnt;?va E
27a 0+369,60 indywidualny P 4,00 3,20 b;i,sntgfva ‘:’
28 | 0+391,20 indywidualny L 4,50 7,70 beft%sntg\?va
28a| 0+395,00 indywidualny P 4,00 4,60 b|e<tcz)?1t|c:\?va
29 | 0+414,20 indywidualny L 4,50 6,40 beft%sntg\?va
29a | 0+413,00 indywidualny P 4,00 250 b|e<tcz)?1t|c:\?va
30 | 0+486,50 indywidualny P 4,00 3,10 beft%sntg\?va
31 0+495,50 indywidualny P 4,00 4,10 h:f::ia
32 | 0+591,20 indywidualny P 4,30 2,70 beft%sntg\?va
33 | 0+610,40 indywidualny P 4,50 2,70 beft%sntg\?va




